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General Instructions to Candidates :

. There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

. Use the ‘Cool-off time’ to get familiar with questions and lo plan your answers.

. Read questions carefully before answering.

. Read the instructions carefully.

. Calculations, figures and graphs should be shown in the answer sheet itself.

. Malayalam version of the questions is also provided.

. Give equations wherever necessary.

. Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 8. Each
carries 1 score. 8x1=8

Choose the odd one from the following
industries :

(a) Floury culture

(b) Cement manufacturing
(c) Fish hatchery

(d) Poultry farming

Pick out the departmental undertaking

from the following Public Sector

undertakings.

(a) Shipping Corporation of India

(b) Reserve Bank of India

(c) Indian Railways

(d) Life Insurance Corporation of
India

A number of business organisations
donated to Chief Minister’s Distress
Relief Fund to rebuild the flood
affected Kerala. Which kind of social
responsibility of business is referred
here ?

The maximum number of members
allowed in a private limited company
is

Coin operated weighing machines and
Railway platform ticketing machines
seen in Railway Stations are examples
for in retailing,
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Give the expansion of GATT.

Which of the following is a horrowed
fund ?

(a) Equity Shares
(b) Preference Shares
{¢) Retained Earnings

(d) Debentures

Public Provident Fund is a financial
service provided through

(a) Commercial Banks
(b) Village Offices

(¢} Post Offices

(d) Co-operative Banks .

Answer all questions from 9 to 13. Each

carries 2 score.

9.

10.

5x2=10

Identify whether the
transactions are B2B or B2C :

following

(a) A customer register online

complaint.

(b) A business firm places order
through online.

Explain any two features of Statutory
Corporations.
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11.

12,

13.

Explain the fixed shop retailers given
below in a sentence or two.

(a) General stores

(b) Speciality shops

ldentify the form of business
enterprises that extend their industrial
and marketing operations in several
countries. Give two examples for these

firms.

Describe any two points to be kept in
mind while naming a Joint Stock
Company.

Answer any 5 questions from 14 to 19. Each

carries 3 score.

14.

15.

5x3=15

Explain e-banking. Give two e-banking
services often used by common people.

State any one responsibility each of a
business firm towards the following
stake holders.

(a) Owners
(b) Consumers

(c) Employees

FME 48 / Business Studies

11.

12.

13.

@06y adosiEmltlenom afigio afl@ajm
WIRILO8HM010) 88MI @D
QUO2IBRalad ANdle:dlee)s:.

(8) B/OOM SERIOIBWD
(b)  Afldrdntt Gatda Hid

mlocuw]  adxyemalad  QdUMIR]s
Aflasemm (icudEmMETBA lydallaflafigian
milvlnqy”  MOdaIMemEes  djalo
agOmTY HOENBET O6NE HEOAOBEMEBBAL0
MN@D)H>.

Ay SIS Gatd (uRIQIeEMI0R
Wadlesnms agemasieno s AU@@E:w
Qflad|5:0\06)8:.

14 oyoad 19 wOeW 88 agemmlele 5
62I0G)MBMRHE HEMOODLIOE. 3 amod allo.

14.

15.

5x3=15

§0-anU08slowd agamonemmy Qllvedle.dla]
LIWOREMENID HaICWIN]HNIM NS
0-6ruosslou’ BUAUMEBE ag)$)m)d:.

®OOYP 605} 0l 860N
@@ aloo]H880S  milmlmgllmes
G000 HEMRUIGAMIABGD (IGRINNHeH:.

(a) ' 9somnd
(b) HAIGBIBMIBOUD

(c) aumsedd



16. Cooperative societies are the only
Private Sector business enterprises that
does not have profit as its primary
motive. Explain any other three
features of it.

17. In business, risk and profit are twin
sides of the same coin. Explain the other
characteristics of business risk.

18, The promoter of a public limited
company didn’t submit Articles of
Association for its registration
application. Is the application can be
accepted ? Why ?

19. Briefly explain about any three
organisational setup by Government of
India to facilitate foreign trade in our
country,

Answer any 4 questions from 20 to 24. Each
carries 4 score. 4x4=16

20. Sri Naren has decided to outsource a
part of his business processes. Do you
favour his decision ? Justify your
answer. (Any three points)
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21.

23.

24.

Discuss the different types of
environmental pollutions caused by
industries.

Explain any four benefits when two or
more business firms together forming
a joint venture.

KK Constructions needs 100 trucks for
three years to carry raw materials
without taking the risk of owning it.
Suggest the suitable source of Finance
explaining any three merits of it.

Explain any four clauses of
Memorandum of Association of a

company.

Answer any 3 questions from 25 to 28. Each

carries 5 score.

25.

26.

3x5=16

Describe the merits of retained
earnings as a source of finance for
business enterprises.

Explain any five factors to be

considered while starting a business.
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27.

28.

Foreign brands like ‘Honda, SAMSUNG,
Hyundai' etc : had set up their
manufacturing centers and marketing
system as wholly owned subsidiaries in
India. Discuss any three merits and two
demerits of such a system of doing

International Business.

Evaluate the contributions of small scale
industries in the socio economic
development of India by explaining any
five facts.

Answer any 2 questions from 29 to 81. Each

carries 8 score,

29,

30.

2x8=16

Explain the concept of insurance and
the principles that guide insurance.

Anu with his seven friends together
decided to atart a business. They are on
a confusion whether it should be a
Partnership Firm or a Joint Stock
Company. Help them to select the
suitable form by explaining any four
merits as well as demerits each of it.
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31. Though there is an argument that
wholesalers will cause to increase the
price, they provide various services to
both producers and retailers. Describe
any four services by wholesalers to
each of them.
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